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Total expenses of a boarding house ar
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rage expense per boarder s Ry /0 w arders and %(@.0 )
when there ar¢ 50 hoarders. What is the average expense per boarder whenthere are 100 boar ?
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If x> 5 and y <—1, then which of the following statements is true?
a. (x+4y)>1 % b. x > -4y )( c. 4x < by % one of these
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By mistake, he interchanged the 2 digits: aandb, in one of these 10 integers. As a result, his b
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A piece of string is 40 cm long. It is cut into three pieces. The longest piece is three times as long

as the middle-sized and the shortest piece is 23 cm shorter than the Tongest piece. Find the Iength

of the shortest piece.
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The total number of integers pairs (x, y) satisfying the equation x + y = xy is
a.0 b. 1 C. : d. None of the above
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Que. 11 Directions: In the given sentence, three words are marked as (A), (B), and (C). These words may
or may not be placed in their right places. Four options with different arrangements of these
words are given below, mark the option with the correct arrangement as your answer. If no change is
required mark 'No l'earrangﬂ&ent required' as your answer.
No country can go far if a sirvested(A) proportion of its population is illiterate, unhealthy, or malnourished, all
the significant(R) that are developed today cenntries(C) well in education, health, and nutrition.
c

A
I. ACB
2 BCA
3. BAC
4. CBA
5. No rearrangement required

Directions: In the given sentence, three words are marked as (A), (B), and (C). These words may or may
not be placed in their right places. Four options with different arrangements of these words are given
below, mark the option with the correct arrangement as your answer. If no change is required mark 'No
rearrangement required' as your answer. A

The presence of foreign campetitionz) in India will bring in an element of qualit@B)-and increase the
standards and wmiversities¢C) of Indian institutions.

\_JA“A.B

2. CBA
3. ACB
4. BAC
5. No rearrangement required

Que. 17 Which of the phrases given in the options should replace the word/phrase that is underlined in
the sentence to make it grammatically correct? if the sentence is correct as it is given and no

correction is required, select 'No correction required' as the answer.

Hardly had the peoples reached Mumbai then they were ordered to return to Delhi.

1. the peoples reached Mumbai then
2. the peoples reached Mumbai than

3 the people reached Mumbai when MLLS >Q
4.  the people's reached Mumbai when /

5. No correction required



Que. 20 Rearrange the following five segments (A), (B), (C), (D) and (E) in the proper sequence to form a
meaningful paragraph; then answer the questions given below them.

s a dividend-paying company with the highest credit rating of AAA by CRISIL and CARE
pperates 22(nuclear power reactorg with an installed capacity of 6780 MW.

3 responisible for siting, design, construction, commissioning and operation of nuclear power

@ Nuclear Power Corporation of India Limite formed in 1987, is a Public Sector Enterprise under the
I ergy (DAE).

ministrative control of Department of Atomic

E. Safety is given overriding priority in all facets of{nuclear power reactors.) &~
\\

Which is the first sentence according to the paragraph? :D C A @ \/ ‘
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Que. 27 Read the sentence below to find out if there is any error in it. The error, if any, will be in one part
of the sentence. The letter of that part is the answer. If there is no error the answer is (5). (Ignore
errors in punctuation if any).

The protesters will reach designated (A)/ public locations by any (B)/ means of transport including scooters,(C)/
motorcycles, tractor, car, buses, truck.(D)/ No error(E)
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Que. 35 In the given question, two equations numbered | and II are given. Solve both the equations and mark
the appropriate answer.

L4x?2+18x+20=0
IL 3y2 + 24y - 60 =0

1. x<y
2. x>y
3. X<y
4. X2y
5. Norelationinxandyorx=y

Que. 38 Saurabh bought 45 kg tea at Rs. 140 per kg and 40 kg at Rs. 155 per kg. He mixed the two. Now at
what price (app) per kg he should sell so that he may get 20% on this loss?

Rs. 118
Rs. 120
. 115
Rs. 123
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Que. 39 Aand B can do a piece of work 18 days and 24 days respectively. Both started the work together but A
left after 6 days and C joined B. They together finished the remaining work in 6 days. In how many
days C alone can finish that work?

1. 36
2. 30
8. 32
4. 40
5. 46

Que. 57 The present age of Ram and Rohit are in the ratio of 7 : 8 respectively. After 6 years, the respective
ratio between the age of Ram and Rohit will be 9 : 10. What is the age of Rohit after 10 years?

1. 30 years
2. 34 years
3. 40 years
4. 42 years
S 77 wearc

Que. 66 Direction: Study the following information carefully to answer the given questions.
6 people — A, B, C, P, Q, and R, work in the same school had their performance reviews in the months



subject. B had his performance review on the 26t of July. The Biology teacher had his performance review after

the Maths teacher in the same month. The History teacher had his review before A, who did not teach Chemistry.
4 people had their reviews between P and C, who did not teach Physics. C was not the English teacher but had
his review immediately after Q. R did not teach Biology. 2 people had their reviews between the Physics teacher
and B. The English teacher had his review in December.

Who is the Maths teacher?

1. B
2. C
3. P
4.Q
5. A

Que. 69 When did the English teacher have his review?

1. December 26
July 14
March 26
July 26
December 14
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